) sSHIMADZU

Excellence in Science

O X%x=~% Model number

DPF, DPFA s.ics pover scn

€623-0003C

DPF 17 S417 BM 2 H F XXX
O 6 6 0 6 606 0 O

Q
(9]

0 I)-2%
DPF :{5#
DPFA: U -7 HBEEEL (T

(DY —7RBBEREG L /minl T DD & 43S FIEE

O KTH 1 X (cm?)
0.8,1.7,2.5,3.5,5, 7cm®

@ Series
DPF :Standard
DPFA :With low noise relief valve

(Applied maximum flow through the relief valve is 6 £ /min)

@ Pump displacement (cm?)
0.8,1.7,2.5,35,5, 7cm®

O T—23E5 © Motor code
=G5 BE AHHA Motor code Voltage Nominal power
F207 12V 0.7kW F207 12V 0.7kW
F410 24V 1.0kW F410 24V 1.0kW
$210 12V 0.9kw S210 12V 0.9kwW
S417 24V 1.7kW S417 24V 1.7kW
N424 24V 2.4kW N424 24V 2.4kW
O ERiES O Circuit symbol
RR— TSR See“next page”
0 22785 © Reservoir code
A HmE (L) ARHE (L) . Oil supply capacity ( £ ) Effective oil (£)
2> 785 7K EE IKF EE FEENEIRERE Horizontal | Vertical | Horizontal | Vertical
1 15 1.0 1.3 0.8 1 15 1.0 1.3 0.8
2 2.1 1.7 1.8 15 2 2.1 1.7 1.8 15
8 2.9 2.8 2.5 2.6 8 2.9 2.8 2.5 2.6
4 3.7 3.7 3.2 3.5 4 3.7 3.7 3.2 35
0 EFRS © Mounting position
H: kK H : Horizontal
V. EE V : Vertical

O RYEEHEAR (BM, BIDO#H)
703> AR (BM)
A: 2.5(£ /min)
G: 6.0( £ /min)
—— KIVAR(BJ)
N
O 13- FrES
T34 & & TN (HHIC TRE)

O V) -JEES

B:29(MPa) G: 7.8(MPa) P
C:39(MPa) H: 88(MPa) Q
D: 4.9(MPa) J: 9.8(MPa) R
E:59(MPa) L:10.8(MPa) S
F:69(MPa) M:11.8(MPa) T

B:3.0(2/min) F:
H:7.0(£/min) D:

:12.7(MPa)
: 13.7 (MPa)
: 14.7 (MPa)
(MPa)
(MPa)

45(2 /min) C:5.0(£/min)
8.0(£/min) K:9.5(£ /min)

U:17.2(MPa)

:15.7(MPa
:16.7(MPa

@ Return-speed control system (Only for BM and BJ)
Flow control valve with pressure compensator (BM)

A: 2.5(£ /min)

B:3.0(£/min) F:4.5(£/min) C:5.0(£/min)

G:6.0(£/min) H:7.0(£/min) D:8.0(£/min) K:9.5(£ /min)

Needle type (BJ)
N

© Code number
In 3 figures given by our factory.

© Relief pressure code

B:2.9(MPa) G: 7.8(MPa) P:127(MPa) U
C:39(MPa) H: 88(MPa) Q:13.7(MPa)
D:49(MPa) J: 9.8(MPa) R:14.7(MPa)
E:59(MPa) L:10.8(MPa) S:15.7(MPa)
F:6.9(MPa) M:11.8(MPa) T:16.7(MPa)

1 17.2(MPa)




) sSHIMADZU

Excellence in Science

DPF, DPFA sucs pover s

O@EXARmitik Specification for electrical parts

@®Et—% Motor

=4 BE YN vitae ] &7 5 X
Motor code Voltage Nominal power Insulation
F207 12V 0.7kW
F410 24V 1.0kwW e
5210 12V 0.9kW
S417 24V 1.7kW
N424 24V 2.4kW B
HiE Lk Common specifications
(1) 30 TER (1) 30sec (rated)
2)KF4T7—2 (2) One linesystem (body grounded)
@)arayaftx (3) External mounting with contactor
(4)JIS D 0203 S1BH7k (4)JIS D 0203 S1 waterproof
@1 %% % Contactor
£ —2ies EE =IEEENEE BEaRKER a1 IIVER MME 7 = X
Motor code Voltage Applicable minimum voltage  |Allowable current Current of coil Insulation
F207 12V 8.5VRLTF 8.5V MAX 200A AT 3A MAX
F410 24V 17V 17V MAX 200A 2ALITF 2A MAX £
5210 12V 8.5VLLT 8.5V MAX 200A 3ALIT 3A MAX
S417 24V 17V 17V MAX 200A 2ALITF 2A MAX
N424 24V 16VRLTF 16V MAX 300A SARIT 3A MAX B
HE 8% Common specifications
(1) 30M E (1) 30sec (rated)
@2)RKF14T7—-X (2) One linesystem (body grounded)
(3)JIS D 0203 S1RH7K (3)JIS D 0203 S1 waterproof
BHFA Solenoid valve
[EIiREC = BE RIFEMR &7 2 X
Circuit symbol Voltage Holding current Insulation
12V 1.3A
BM BJ 24V 0.7A E
- 12V 25A
oL
LRI 24V 1.25A H




swee [JPF. DPFA
5 Series power package

®[zicS  Circuit symbol
i | 87

o
-
o

E
|
[

CFG CAC A B BVG

BUC A B

DDG A B BYC A B CRG

BXG A coD CGC A B c D

—F
.

DEG

L L L

i) SABAARBERBRAT X OFILFORMELIE, EF]RAHE  Note : As to other function of neutral position for 4-way 3-position
ETTY, DHEIE, TRICE->TIT2BPEDY T, solenoid valve than the above shown, the third letter of code

-c D G is to be changed by the following designation.
E] [H] E] E: (o} [E]: D E]: G

fl:BVG(PR—r7 Ay 7)—=> BVC(F—IFK—rTAvY7T) Ex. BVG (P port block) — BVC (all ports block)



) sSHIMADZU

Excellence in Science

DPF, DPFA suics pover s

Q@t—FLRCTOHEEE

For selection of motor, pump and its applicable pressure

=4
Motor code

RTHA4 X
Pump displacement

pr$§sure(MPa)

F207
F410

5210

S417

N424

OtsEmsE Performance curves

ISO VG32 Hydraulic Fluid at 40°C, Motor terminal voltage DC12V or 24V

DPF

DPEA *¥#F207
14
o
2 1 o
o 0 >
2 - (p% &S )
E N 5@\7)//‘ N&“\
: ST
s NS T e
L]
: ] 08 |
& s < Tup 85
P >R l."(P'”"ll‘ﬂils
L ment.7)
[ I
/// u(‘Pum;‘J disnlacemento.a) [
. L 10
REHE (MPa) Pressure
BEE ) ##5210
24
S
20 S >
S
i & T
&L ST TN
8 LR\
3 SA ST T
L o1 - = /‘(
= P - D
: 10.9)
g T aceme®
g | pume i
LT 2 =
o PN A
i - \,Qﬁump isplacement 3. 5)
=10 (Pump i
5 > t 2,
| | pacemenl1
7 =]
;O(Pumpr'k I .o;e>
{mp displacement o]
I I O |

10
mtHHE (MPa) Pressure

280

200

100

240

200

100

&7 (A) Current |
Rt (£ /min) Flow Q

& (A) Current |

it & (£ /min) Flow Q

it (£/min) Flow Q

10
It HHE (MPa) Pressure

140
S
& 100
&
0 3
& S
| ®‘® 1 &\sV\B
KK
=
5 o[
— | 50
il
—
L] QP
- _(ﬂ ment 0.8)
e
o 78 °
1+ HE (MPa) Pressure
: 120
|
o
OV \\\,Lf; ~ 100
P p ANL |
S o) |
& N
AR o
S > 3
/47\8\3 (i
£08)—
> me\’\/_-i
P ’
Q (Pump gj
(Eump dAsoIane‘mam'S.s)
- | Q(Pump gigp
-~ nent 2.5)
Q (Pump gispy ement 7 5 ———|
ont 17)
—] |
‘Q (Pump displacement 0.3)7;
N Y
o 78 °
it HE (MPa) Pressure
‘ : 280
\Q‘a‘"\
k92
N
%,”)7 9
x> S 200
5 ol
S @ e\\"];ﬁ\‘
></ < i
~— e
— [ ——p lent 3,
= O Pimp et 100
i i AL I e
0

&% (A) Current |

&% (A) Current |

&7 (A) Current |




) sSHIMADZU

Excellence in Science

@51

~ [DPF )
DPFA

]
Wis

JIs

#EE0Y>Y P11(JIS B 2401)
Outlet port"P" G1/4, 12depth

0-ring P11(JIS B 2401)

=Y A—h"G" G1/8, F10(JIS B 0202)
AANT 7Y ZEES
A0~V P8 (JIS B 2401)

DPF, DPFA sucs pover s

BERFRTHIX[25]. 2>V [2]DHEERLTVET,

0 u“ i n e d i m e n s i 0 ns Figures of mass correspond to [2.5] of pump displacement and [2]
21 0 (BM) of reservoir code.

a7
{;_

[EE&ECS  BM [EkEES BY
Circuit symbol PG Circuit symbol PG

F—K'P" G1/4. 812
B 0202)

B 0202)

JLIARINVT
Y—R#R& 300

(JIS D 5403 CA104)
Solenoid valve
Lead 300 with pin plug
(JIS D 5403 CA104)

75 25EF"B" . M6X1

(JIS B 0205)
"B'terminal M6x1
(JIS B 0205)

p37::|m JhEat

(JIS B 0202)
Hexagon socket he.
0-ring P8(JIS B 24

DPF )
DPFA

]
wis
BE

Gauge port"G" G1/8, 10depth

Outlet port"P" G1/4, 12depth
(JIS B 0202)
0-ring P11(JIS B 2401)

—UH—h"G" G1/8, Z10(JIS B 0202)
RARMT ST ZEES
BE0U>Y P8 (JIS B 2401)

229231 ViEF"C"
'):Fﬁﬁ 200 5 BM:ZE832  Flow control valve Oil inlet breather 0Oil gauge
2 EELHETHF BJ:=—FJL Needle valve
(JIS D 5403 CA104)
“C'terminal 82942
q Lead 200 with pin plug Contactor
ad plug SHEX _| L ¥ (JIS D 5403 CAT04) -
o1) S (O
3 il = j
[7N
a N 8
5
R - 80>

4-M8X1.25, %16 Relief valve

(JIS B 0205)

(BfF%7R)

4-M8X1.25, 16depth 182

(JIS B 0205)

(Mounting screw) BtE

LA T—
Mounting surface Drain plug
27HEX

7 {417) (4] OV

HK—N'P' G1/4, %12
B 0202)
0Y>% P11(JIS B 2401)

YL /ARG

U—FigE 300 . .

EFEUHHTIRFE 75 REF B MEX1 KLLT5Y
(JIS D 5403 CA104) (JIS B 0205) —Eitea7

"B'terminal M6x1
(JIS B 0205)

Solenoid valve
Lead 300 with pin plug
(JIS D 5403 CA104)

Drain plug
27HEX

Oilinlet breather
-cum- il gauge

DIEZETOETCT Byonay Flow controlvalve
¥R BT BJ=—FJL  Needle valve
(JIS D 5403 CA104)

Gauge port'G" G1/8, 10depth “C'terminal a>4a94
(JIS B 0202) Lead 200 with pin plu
Hexagon socket head plug SHEX (JIS D 5403 CA& 04p) ¢ - Contactor T
0-ring P8(JIS B 2401) 3
g
S| o
= e 9|
5
N
B 4-M8X1.25. %16 e
-| .25, 7 Relief valve
(IS B 0205) Sl 3
(B RI7R) 81+2 M2
4-M8X1.25. 16depth 182 L3 ' 5.5
N = (JIS B 0205)
£ EE% 1 2 3 4 (Mounting screw) WA E
Reservoir code Mounting surface !
L 161 21 278 341
M 72 60
D 138 140
unit:mm BE Mass 8.5kg

HRatt ERRER JIVA T I RSB

HMNABLCMERIERB D FEGLEETBIENBNEITDTTTEIEL,



